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Note :

Question No. 1 is compulsory, answer any TWO questions from the remaining.

(i) A% J97 & T YT 1 FHER TF T T Hi1rd |

Solve all parts of a question consecutively together.

(iii) Fe% 597 H 79 78 8 IRE] Fr7 |

Start each question on fresh page.

(iv) g1 99137 7 37 g7 F1 Rt 7 38 g @ a8 |
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(i)

Only English version is valid in case of difference in both the languages.

ifes o & st yaTg I &1 fag s |

Draw the basic flow diagram of power system.

AR @ga 3muT & weR fRed |

Write types of overhead line support.
HeROT SATEAl A gt W R 1 wTe aeeed |
Explain the effect of span on sag in transmission line.

GEUT T84 h1 eeqa f 819 & o fafad |

Write the causes of low transmission line efficiency.
e e ferates § 1=t T |

Explain difference between feeder and distributor. : (4x5)

0T STE & Sieedl W & 999 § e ee! 1 @ W@ 141 8 7 99 |

What factors are considered for selection of voltage level of transmission line ?
Explain.

FesUT qT TeTad SR SERoT Yot & o o gt e |

Write the advantages and disadvantages of AC and DC transmission
system. (12%4+12%4)
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T fepumr 2-ar yureft @ fepumr 3-ar yoreft # dfe & SmEaAl Y ger HiR
ot 2-am somredt § we foig s-wwafdha 2 |

Compare volume of copper in DC 2-wire and DC 3-wire system in which
midpoint is earthed in 2 wire DC system.

T =Teehl & T TR foRed e 39 o 9 wifaat oft fofed |

Write different types of line conductors and write their advantages and
disadvantages also. (12%+12%)

S qgren i aferen foaRed | Tt g & = B % SO 9T I8 A i fafeat
faftaa |

Write definition of string efficiency. Write causes of low string efficiency and
methods of improving it.

@aﬁm%ﬁmﬁﬂmﬁ?ﬁqmsﬁéﬁ | e TS I T@UTET C g,
% FaeE O aur o % 7o i 0.1C He ? | wfy g arfrenam w@ dieean
18 kV & | 1 W dreean ferawor & et garan wra Hifdr |

A string insulator has three identical units. Self-capacitance of each unit is
C Farad and capacitance of each connecting pin to ground can be taken as 0.1C
Farad. Maximum permissible voltage per unit is 18 kV. Find the distribution of
voltage across string and string efficiency. (12%4+12%)

e e AT T a6 % YW B AR 0 50 aH oo 1 g § s
91 o ford saeres wenfia hifv |

Derive the formula for calculation of maximum sag in level support considering
effect of wind and ice.

2 e R S aw: 30 et w60 Hex ¥, e wire e # Té wRm W

oM | T % e afow gt 400 Hiex ? | 3 = W aE 1500 e @, @

=TeTeh 1 AaH GRHIR adT TR & FeF YRiak 1 ST | =Tereh T WK 1.2
fop.7m/Hftet 2 | TR % AU Y 7} F TR W G qHAT R |

Two towers of height 30 m and 60 m respectively support a transmission line
conductor at river crossing. The horizontal distance between the towers is 400 m.
If the tension in the conductor is 1500 kg, find the minimum clearance of the
conductor and clearance of the conductor midway between the supports. Weight
of the conductor is 1.2 kg/m. Base of the tower can be considered to be at the
water level. (12'2+12%)

ferega w=ror gl w1 afientor S aen afies wyma ) wwET |

Classify electrical transmission lines and explain skin effect.

TS AW HE] 15 1 garal Ua frrma &Y o w6 Aol o7 faft @ $ifvne |

Describe the procedure of calculation of efficiency and regulation of a medium

‘transmission line by ‘T’ method. (12%+12%)
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Explain, how voltage drop calculations is carried out in AC distributor.
w faam feg amo faawss AB, 500 wiet avan @ 9t e R e & -
ARgh (frd): 150 300 400 450

R (TR H) : 100 200 250 300

Tryur farg A W Aeedr 440 FT B W 430 diee # | 3fE W% =rers F1 iy 0.01
3 wfa 100 Hex &, @ = ra Hfre -

(a) A9BRRIvEmam
(b) T 4 ofe wd
A two wire DC distributor AB, 500 meter long is loaded as under : -

Distance from A (in metres) : 150 300 400 450
Load in amperes : 100 200 250 300

The feeding point A is maintained at 440V and that of B at 430V. If each
conductor has a resistance of 0.01 Q per 100 metres then calculate following :

(a) The current supplied from A to B.

(b) The power dissipated in the distributor. _ (12%4+12%)
e 1 & fordl & o aftrm feoaoft it -

Write short notes on any two of the following :

@

f&fim =r

Stringing Chart

(ii) T faes

Ring distributor

(iii) Prow faa

Radial distributor. (12%4+12%)
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